6-1. S R IR R FERIR:

(D) f(x,,%,,%;) =3x; —x; +4x,%, — XX, +2X,X,;

(2) f(x,y,2)=x=2xy+y’ —dxz -7z —4yz;

( 3 )
F (%, X5,%,) =X +x5 + x5 +x; —2x,%, +4x,x; —2x,X, +6x,%; —4x,X,.

6-2. FHIEZZAR G T4 —URAGRRAETE , IR HAH R AR IEAE A8 e

(D f(x;,%,,%5) :xl2 +4x22 +x32 —4x,x, —8x,x; —4x,x3;

(2) (X, %y, %5,%,) =X +X5 +X; +x; +2x,%, —2X,%, —2X,X, +2X,%,;

6-3. 70 A I EC VA RTS8 AR 404 1 9 IR A AR UETE . I 5 HAH B AT
WA e

(D) f(x),%,,%;) =4x5 =3x] +4x,x, —4x,x; +8x,X,;
(2) f(x),%,,%;) =4x,x, =2X,%; —2X,X;.

6-4. Ui W] F B RE R R (T Al 1

(1) 2x* —4xy+y° —4yz =1;

(2) 3x* +5y> +52° +4xy —4xz—10yz =1.

6-5. FIWr T 51 XA I E 1k

(1) f(x;,%y,%,) ==2x7 —6x7 —4x +2x,x, +2x,X, ;

(2) f(x;,%y,%,) =2x] +5x; +5x; +4x,x, —4x,x; —8x,x;.



